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QUESTION 1

S5600 control panel box must be safe FC hard disk or SSD hard disk (S5300 and S5500 control box control boxes do
not have this requirement), control box, hard disk drives and other types of hard disk box for SATA hard drives or FC
drives or SSD drives. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

RAID technology for efficient data organization and data security is primarily the means through which to achieve?
(Choose three) 

A. Data striping 

B. Sequential read and write data between the members of the panel 

C. Verification mechanism 

D. Hot standby mechanism 

Correct Answer: ACD 

 

QUESTION 3

The maximum transmission distance of multimode fiber () m: 

A. 300M 

B. 400M 

C. 500M 

D. 600M 

Correct Answer: C 

 

QUESTION 4

Upgrade for S2600 need to upgrade the controller software upgrade SES. 

A. True 

B. False 
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Correct Answer: B 

 

 

QUESTION 5

iSCSI host adapter (HBA) is responsible for implementing iSCSI layer and the TCP / IP protocol stack functionality. 

A. True 

B. False 

Correct Answer: A 
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